SUMMATIVE ASSESSMENT - 11, 2012

Hehferd wdier - 11, 2012 §5-2016

SOCIAL SCIENCE / qmrfsier fagm
Class - X/ o8Il - X

Time allowed : 3 hours Maximum Marks : 80

fuifta vu= : 3 9ue Jfereran 37 : 80

General Instructions :

The question paper has 36 questions in all. All questions are compulsory.
Marks are indicated against each question.

Questions from serial number 1 to 16 are Multiple Choice Questions. Each
question carries one mark.

Questions from serial number 17 to 29 are 3 marks questions. Answer of
these questions should not exceed 80 words each.

Questions from serial number 30 to 34 are 4 marks questions. Answer of
these questions should not exceed 100 words each.

Question number 35 is a map question of 2 marks from History and
Question number 36 is a map question of 3 marks from Geography only.
After completion, attach both the maps inside your answer book.
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1.A

1.B

2.A

2.B

By what name is the civil code of 1804 known ?

(@) French code (b) National code

() Diplomatic code (d) Napoleonic code

1804 Y IR HfedT 1 fohm T | AT T & 2

(@)  prEET Hfear (b) TP Hfea

()  gmETEy Hfed (d) e i gfed
OR

The colonial economy of Vietnam was primarily based on -

(@) Rubber cultivation (b) Rice cultivation

() Both of them (d) None of them

forerem =t sirafrafiies steferereen wafts w9 § forg W fvfw ot 2

(@) TS & GAH W (b)  =TA hHI B T

© SAIW d) W H 9 e R

When was Customs union or 'Zollverein' founded?

(a) 1833 (b) 1834 (©) 1837 (d) 1840

S[eoh W STAT  STCTeIgA ' Sl 137 el fohdT 7T o1 ?

(a) 1833 (b) 1834 () 1837 (d) 1840
OR

A French citizen living in Vietnam was called -

(@) colons (b) domino

() obscurantist (d) natives

forram # Yo A e A Rl el S -

(@) M (b) i ()  STsHREIRf=E (d) <

How many miles were covered in Gandhiji's Salt March?

(@) 24 miles (b) 10 miles () 240 miles (d) 15 miles
Tieft St & T FeamE H fordn Hia Yot A g8 ?

(@) 24 HI (b) 10 Hia (c) 240 Hia d) 15 #Hi

Where was the Non-Co-operation Movement called off?

(a) Chauri Chaura (b) Dandi

(c) Champaran (d) Kolkata

STHAM ST 1 fohd T T araw fora e ?

(@) - = b) =

()  =FrA (d) et

Which of the following is a Non-Metalic mineral?

(@) Copper (b) Lead () Nickel (d) Mica
frafafed § @ =F senfaes afs 22

(@) @ (b) ¢ f=a d) 9w

Page 3 of 9



10.

11.

What is the most important use of mica?

(@) It is a light mineral. (b) It has insulating property.
() It is used for making wires. (d) It is strong and malleable.
S 1 FoY HEwqUl ST 91 § ?

(@)  IE BeH @S B

(b) ¥ forgE o fodaw® T

()  TEI FAN IR oM & fore foham S 2
(d) I8 R AR A T

Which one of the following industries uses limestone as its raw material?

(@) Aluminium (b) Cement () Sugar (d) Jute
frefafed & § fora Sem o 97 % TR 1 %=1 7 & €9 § 0 21§ ?

@  ufafEe by  HH= (c) = (d <&
Golden Quadrilateral refers to which type of roadways?

(@) Border Road. (b) State Highway.

() National Highway. (d) Expressway National Highway.

wftt wgys 1 frefafea § & feg & @ g 2

(@) MW EEH (b) T ST

(0 T ToAT (d) o e T

Who was the ruler of Nepal when the movement for the restoration of democracy took
place?

(@) King Gyanendra (b) King Birendra

() G. P. Koirala (d) None of these

UTE H T A T ST o 56l A= Sglelt o T ST Y% gail o ?

(@) TS AE=R (b) TSR

(© . Wl wETen d) STEH Y RE &

What does SPA stand for?

(@) South Polilical Association (b) Seven Party Alliance

(o) Socialist Peoples Association (d) None of these

. 0. T 1 forgd §9 R R ?

(a) 99 fdfehe THITTTH | (b)  EoA UEl T |

@  Oiffae dged TafaesE | d) WG HHHE T
Which one of the following is an important function of a Political Party in India?
(@) To organise movements (b) To contest elections

(c) To mobilise people (d) To oppose the ruling party
frefafad § @ R @1 & yRa o ot Torifaes g &1 qewyul wE § 2

() SR F (b) A e

(c) TN Sl AT HEAT (d) T T I forlg T
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12.

13.

14.

15.

16.

When a country makes a transition to democracy it faces -

(@) Foundational challenge.

(b) Challenge of expansion.

() Challenge of deepening of democracy.
(d) None of the above.

Tel IS ¥ Elhd=t i SR SEdl § A 3Tk THA I A Bt © 2

() TR SR & <A | (b)  fomr =t AT

(c)  TAha= ASTEd i i AT | (d) ST H H HE T |
SHGs refer to :

(@) Groups of rural poor people who work together in the credit sector
(b) Groups of rich people who work together

(c) A formal credit sector

(d) None of the above

T WEEAT GHE 1 G § -

(a)  TITHIOT G 1 WG ST 01 o &eh H el Y T I R |

(b) TR @l 1 Tg S e Y M g
() o Sq=iien o7 & |
d) RS H Y HE TE

Banks and Co-operatives come under -

Informal credit
None of the above

ST BT &5 |
SHH | 9 hiE = |

Globalisation
None of the above

CEEIETU|
STIG | W g el

Right to freedom
Right to be informed.

AT Rl TR |

(@) Formal credit sector (b)
() Both (a) and (b) (d)
S 31 TEEwRT wiAfEn Fean § -

()  3i=Tien R0 & | (b)
© (@ R (@) (@)
The process of rapid integration of countries is called -
(@) Liberalisation (b)
(o) Urnbanisation (d)
3 % el TRl i WfRA R R § 2

() e (b)
( ¥l (d)
Which one of the following is a consumer right?
(@) Right to property (b)
(c) Right to equality (d)
frfafea 3 § S w1 SusT AR € 2

(@)  FHf 1 SIBHR | (b)
(c)  HHWal 1 AfHR (d)

AT A 6T STTUhR |
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17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

Explain any three provisions of the Treaty of Vienna of 1815.
1815 1 ferarn skt Gfer o ferdl i1 Araeri =61 w9 hifer |

OR
Describe the influence of China on Vietnamese culture and life.

< 1 foeraTt Sepfa TR Saq W 991e 1 9uiH Hifsw |

Give any two reasons for the launching of the Non Co-operation Movement. What was
Gandhiji's idea behind launching it as stated in his book 'Hind Swaraj'?

3TN AT T[E i & s of HRU e ‘fo @’ s o fafaa mdist & w9
Y foraR 1 39 AT 1 IR T TR © 2

Describe the distribution of coal under its four major forms.

I T 3794 IR TY| o 3T fIaeor sl Ui HifTa |

What had been the problems associated with the cotton textile industry in India?

IR W Gell oI5 SR & T A O g It WIS ?

Describe two steps to be taken to minimise environmental degradation by industries.

TN 11 YT fohT T TGHU &l °H td & fIT 511 9k a1t forgl <1 had! ol 90 HifST |

What do you understand by sectional interest groups? Explain with examples.

it fosiy fed T &1 R AU § 7 3SR TR T HITST |

'Democracy is better than any other form of government.' Give three arguments in
favour of this statement.

" Freha=t fREY o171 YR il THR § S8R ©'' 39 FUH & UL B DI o b Sifeg |

What are the two conditions under which democracy accomodate social diversities.?

I Hi 2 ufifeafadi o s=aid Alehd=t 9mifsies fafaedn o 9re Qs Hidl g ?

Describe the major challenges to democracy in India.

IRA H Gha~ o AT & AT sl IO hifeT |

What are the special economic zones (SEZs) ? Why is the government setting up SEZs ?

o9y amfefer &1 (SF) R § ? SRR TTeh! TATYAT Rij i @I & ?

Explain with an example how foreign trade leads to intergration of markets across
economies.

IR0 T TIE HifWT o ford yapr foder =R fafie stefeqazenedi ot SRl =61 Tshighd
EASIR
There are many rules and regulations regarding consumer protection but they are often

not followed. Why?
SULRGT GRET o e a9 - fafm € weg w1 S ue 7 B - 91 2 T i

Page 6 of 9

3x1=3

3x1=3

2+1=3

3x1=3

3x1=3

1v2+1%2=3

2+1=3

3x1=3

1%2+112=3

3x1=3

3x1=3

3x1=3



29.

30.

31.

32.

33.

34.

35.

The consumer redressal process is becoming cumbersome, expensive and time
consuming. Do you agree? Give two reasons in support of your answer.

“3uiBT aifd ufd FraRor 1 iR Sorgmd Y, HET SR gEd St o W@ R @ o e
Herd & ? 3799 SR & &I § IS 1 deh <lfe |

Explain any four features of the Napoleonic code.
ifera sl Hiedl <l forwdl =R foodreti st sawe it |
OR
Examine the new challenges which the new Republic of Vietnam faced after 1954.

1954 % 9E T4 To@d= ™ Mo 3 S H FATE! 1 A1 fRa 2 3T TaT07 Hifse |

What were the limitations of the Civil Disobidience Movement? Elaborate.

i S7eT SMRI shi o1 THTE off ? forear shifsu

Dense and efficient network of transport and communication is a pre-requisite for local,
national and global trade today. Comment.

e 3R TOR 1 A9E IR Ge WA, W, T SR afyded R @t deel Id
8?2 o1 faem fafam)

Explain the challenges faced by political parties in India.
IR B TSHIdh el o GHe i 9t Al & ?

Differentiate between formal and informal sources of credit on two main points. What is
the main source of credit in rural India?

0T & AT 3R SHII=Ies &hi & o9 his o <R faNgq | TTHOT YR § K0T oh
A THd FE ?

Two features (A) and (B) are marked on the given outline map of India. Identify these
features with the help of following information and write their names on the marked
lines.

A. The place where Jallianwala Bagh incident occured.

B. The place where the Indian National Congress session was held in Sept 1920

IR % feU gu TsHifaes W aHftas W A 3R B <1 @it fafed fre gu €1 - < 18 sert
& TR 9T 39 AT oh! YA hifsT o7 A # fafgd Wareli w379 98 7™ fafaw)

A - T T &l SIeraiaTe ST <kl ST g8 |
B - g T STET FHamsR 1920 H i ARSI goT o)

OR / 31gar
Locate and lable the following items with appropriate symbols on the same map.
(i) Champran - The place where the Indian movement took place.
(if) Madras - The place where the Indian National Congress

session of 1927 was held.

34T Ao W Frfafaa S Suge Gohdl gR1 T9se 31 3% Tt A fafem)
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36.

()  =HRA - et i Bt A ATl T SR |
(i) HEH - 1927 <1 FIUH AferereH

Note : The following questions are for BLIND CANDIDATES only, in lieu of Q. No. 35.
(35.1) Name the place where the Jallianwala Bagh incident occurred.
(35.2) Name the place where the sept 1920 session of the Indian

National Congress was held.

G frefafaa ge Faa g denfa=t & fau w7 9@ 35 & wH W T
351 39 M o1 W fafae Sl siferateren 9 sl = g8 |

352  SH TM &1 AW fofay sl fqarer 1920 H e w1 SAReeE gl |

Map For Question Mo. 35 and 35 (OR)

Three features (A), (B) and (C) are marked in the given outline Political map of India.
Identify these features with the help of the following information and write their correct
names on the marked lines in the map.

A - A mica producing centre
B - A silk textiel centre
C Terminal station of East-West Corridor.

W%@@WWWWA B 3R C dF @tawr fafea fohw gu €1 i <1 18
THHRI o TR W 37 AL i Yo Hitsq a1 qHteas § fafed Wereil ® S 8 7

fafewl

A - 31YH IUCH &1 |

B - W FHUST ST g |

C - el afe=t TTferan 1 SR

OR / 31raT
Locate and label the following items on the same map with appropriate symbols;
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(i) Kaiga Nuclear Power Station
(if) Tutieorin Sea Port
(iify A software technology park in Orissa

SET A W el S Suge Hhdl gRT Sz SR S M fAfey |

O ELREIRIES KSRE : Ell
(i) — EHE oA : LGIEDIES]
(i) ~ WTRSIR TS qreh: 3eien H feeord

Note : The following questions are for the BLIND CANDIDATES only in lieu of Q. No.
36.

(36.1) Name the software technology park in Orissa

(36.2) Name the state where the Rawat Bhata Nuclear Plant is located.

(36.3) Name the Western terminal entry of the East - West corridor.

e ; fr=fafea ye Fea givenfua adenfel & faw we 9@ 36 & e W E
36.1 ST T ATHRaE TS ek ol A fafay

362 U T[T 1 AW fAfee et e Her T 3Si e feord #

363 T4 div=d Tican o g SR &1 AW fatau |

Map For Q.No. 36 AND 36(OR)
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